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1)—5 1R 2R 3R | A&t | B
1 (HOXF ( GAIYA )| 6 6 4 16 1-1
2 (WFHEEF  ( Fruy )| 4 6 6 16 1-2
3 |HB=E (I o— )| 4 2 4 10 4
4 |BHFFEF (AHIEHST )| 6 2 6 14 3

21)—4 1R 2R 3R | &t | IEfL
1 |[FEHEBRF  ( GAIYA )| 6 6 6 18 1
2 | LHEEF ( R18—% )4 5 6 15 2
3 IRHFEE (LFELGHLT—RX )| 4 6 4 14 4
4 |RIREF (F)7via )| 6 5 4 15 2

31— 1R 2R 3R | &&t | B
1 | EHEE ( LEGHLTA—R )| 3 6 6 15 2
2 [FRfREBEF (N2 P— )| 6 6 5 17 1
3 |8 BF ( GAIYA )| 6 3 6 15 2
4 | RFEEFF (FUT7via )| 3 3 5 11 4
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1 |[fEAREF ( LEGHLTA—R )| 6 4 3 13 3
2 HHEEF (RO — )| 4 4 6 14 2
3 |EHEF ( GAIYA )| 4 6 3 13 3
4 [¥XEXEE ( EFABEVT (-2 )| 6 6 6 18 1
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1 |k ( RIN—=% )| 4 6 5 15 2
2 |BEHF ( RiIS—=% )| 6 6 6 18 1
3 |FREF ( HIEYST )| 6 2 5 13 3
4 [sTHECT (AL2D )| 4 2 6 12 4
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